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330 inangylr  Section 2.5
{3SS HOMBWoR ccton 2.

4. Write each expression as a product of
powers.
a) (6 X4)? b)(2X5)* ¢ [(—2) X3]°

d) (25X 4 o (11 X3)! 9 [(=3) X (=2)]°
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5. Write each expression as a quotient of

powers.
a) 8+5P b 21+5* o [(—-12)+(=7)P
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6. Write as a power.
a) (3)* b (6))° q (5%)!

d (79 o) —(8H)2 1) [(=3)4?

7. Simplify (2*)% and (22)*. What do you

notice? Explain the results.

December 11, 2020



Day 11_12_Section 2.5_Homework.notebook December 11, 2020

8. Write each expression as a product or

quotient of powers.

Rt 9(3)

e) —[(—=10) X 3]? f) (16 +9)2

9. Why is the value of (—5?) negative?
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10. Simplity each expression, then evaluate it.
For each expression, state the strategy

you used and why.

a) (3 X 2)°|b) [(—2) x 4]*|0 (i)

o(3) [eazr |-




Day 11_12_Section 2.5_Homework.notebook December 11, 2020

4. Simplify, then evaluate. Show your work.
a) (3% X 31)? b) (4°+4%)% [0 [(=2)° X (=2)*2]d) (10° + 10%)?

e) (10°2X (108 | ) (129)* = (1222 |9 (3)° = () [ W [(=2)7] X (=2)?
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Copy the solution and correct the errors.

23 \5
- - 5 \ T —%\:L = {__-‘5;
x) (B x 2P =€) ) [(-3)]

|-‘! :_"—-24’5‘
=&

=7 |7¢ 7827336

o) (10 + 107 = (10

1A

=10

= 10000 000 000
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16. Simplify, then evaluate each expression.

a) (42 X 4%)2 — (5% + 52)2 ) (33 = 32)3 + {84 X 83)0

0 ()4 + (2 + 2% d) (62 X 6°) + (26 + 24’

o) (5 X 590 — (4%)? f) (105 + 1022 + (33 + 31)4




Day 11_12_Section 2.5_Homework.notebook December 11, 2020

17. Simplify, then evaluate each expression.

a) (=2 X (=2 = [(=3) = (=301 | b) [(=2) + (-

(]

P12 = (=3P X (=31

[ ]

9 (=2 X (=222 + [(=3) + (=3)2 d) [(=2)° + (=22 + [(=3)° X (=3)*)?

[ ]

2

e [(=2)+ (=2 = (=3P = (=3P | ) [(=2° X (=272 + [(=3)’ X (=3)*]
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19. Simplify, then evaluate each expression.
a) (23 X 26)2 — (37 - 35)4 ’

O [(=4P X (=47 + (£ x £

&) [(=3)4 X [(=4)* = [(=3)]°

December 11, 2020

b) (6 X 8)° + (5%)?

d) [(=24 + (=472 = [(=3)3*

f) [(=5) X (=4 + [(=6)’]* — [(=3)° + (—3)8]5

10
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Worksheet ...

Laws of Exponents O

““Niathematics 9

Simplify.
(=5)% - (=5)* 2) 8°-8°
3) (-3)7-(-3)° 4) (-6)" - (~6)* - (-6)*
5) 5.5 5 5:5°
5 3
7) 3,; 8) 4
5° (-4)°
22 '_ 0
D —5 10) _(_%
- (-3)
Ty
N 13
11) "(*4—)5 12) L
(~4) 4"
13) ((-4)*)° 14) (-6)°

11
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2 1\2
29) 2 30) @)
4° 4
e _9\4
2 (52)* 3.3
31) *-(67) 32) ( ; )
3 2
2, )
33) 22 i 24' 3 34) (‘"_4}__' E_j')
2 ((~4)")
A 8 . 4
Gy R ML
= " 3¢ x3°
2% .2
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